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¥¥Z's balance sheet and’{:.nccme gtatement are given below:
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Balance Sheet: / ‘ £ /
Fd !
4

Cash 7 50 Accounts payable § lo0
AR 150 Notes payable ]
Inventories 300 Long-term debt (10%) 700

Pixed assets 500 Common equity (20 shares) 200

Total assets $1,000 “Total claims 51,000
I

Inqome—Sta_E&inEnt:
Sales 1,000
foet of goods sold 55
EBIT 5 145
Inte‘féllg__l,:_. _ 70
er_ |- :-, § |78
TaxEs {j‘jﬁﬁ%}l 25
Wet' income $__ 50

The industry average inventory turmover is 5, the

interest rate on the-£irm'slong~termdebt is 10 percent,

20 shares are outsta_«d.i_ul, and the stock sells at a P/E

Sf 8.0. If X¥Z changed its' inventory methods so as tg
¥ ‘_._] = o, =

operate at the industry average inventory turnover, if

—

ir used the funds generated by this change Lo retire

long-term debt, and if sales, the cest iof goods sold,
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and the P/E ratia mm]\_mc} constant, by how many
s

percentage points would its ROE increase?
= 4
b

. 1.50% //I ‘ 4 ;’} ]
b.2.00%
c.2.75%
d. 3.33% -
e_ 4. .00% s ==
f_. Other -_ — = (10%)
==
2 Haxrter Box Company-';]_:!;.:n'&‘e;sheet showed the following

amounts: as of December 31st:

Cash , § 10 Accounts payable 515
Accounts receivabl€ 40 [Accruals 5
_1 \

Inventory - 50 | Notes payable 20
Net fixed assets 280 Long-term debt 20

W= e
Common stock 20

Retained earnings 120

Total assets 5200 Total L&E 85200

. pres

E——— |

e : :
Last yearthe firm'ssaleswere 52,000, and it had aprofit

marain of 10 percent aln.d,ia.- dividend pavout ratioc of 50

-~

percent. Baxter Bbox operghed its fixed assecs ac 80
percent of capacity during the year. The company expects

to increass next year's sales by 27.5 percent, to$2,750,
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but the profit margin is expected.to fall co 3 percent,
i [
and the dividend payout ratio -ris gxpected to rise tg 60

percent. What-is Baster Box|s additional funds nesded

(AFN) for next Fyéari?'{ I;‘lr

a. & 7.00

b. -8 3.00 (surplus)

c. 530.50 - —

d. -4§97.50 {aurplphs) -

e. %18.50 L —
| J
f. Other =tk (10%)
£ N Find the present wvalue of an income stream which has a

negative flow of 510:!. per ye;a; For 3 years, a positive
flow of $200 1in the ﬁh—ye&r, and a positive flow of $300
per year in Years E-I:fl'i:foug‘fil 8 .I The appropriate discount
rate 13 4 percent -fol jvaﬁl; c::llf the firac 3 years and b
percent for each of tﬁe later years. Thus, a cash flow
accruing in Year 8 should be discounted at 5 percent for
gome years and 4 percent in other yvears, ALl payments

ooour at year-end. e

T =

a. 8 B2B.Z1 f i .

b. $1,329.00 fi

.5 82, 48

I

d. 51,046.%1
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e. 5 B875.18 SRS § AT
rol
i. Other == (15%)
— = |
|
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4, The Hart Mcuﬂtaiuf'ccn'@an%&as Jj'ecently discovered a new

type of kitty litter which is extremely abseorbent. It
is expected that the firmwill experience (beginning now)

an unusually high growth rate (20 percent) during the

— T

period (3 years) it has excliBive rights to the property

1L Jl ; i .
whera rhe raw materialbused-to make this kitty litter

is found. However,| begimming, with the fourth year the

e

firm's competition-will have aecess to the material, and
from that time on the firm will achieve a normal growth
rate ¢f 8 percent annually. During the rapid growth

pericd, the Ffirm's dividend payout rario will be

relatively low (20 peg€ent] in order to conserve funds
|
| Sy
for reinvestment. _ﬂﬁﬁgveri, the decrease ingrowth in the
=: | [
! }
fourth year will ’ne|_§g_cam;:ran1ed by an increase in

1=

dividend payout to 50 percent. Lastyear'searningswere
Es = 5§2.00 pér share, and the firm's required return is
10 percent. What should be the current price of the

commott stock?

&. 566:50 f 1=
B, S87.95 _ e

c. 57L.53
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e. 593.50 o

E. Other — (15%)
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B. Ttk ATHARKE?

[10%)
{22%)

C. # 7 % 303 5L Dependent Variable Independent Variables &
|
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&. i CAPM and APT? 1.5&1 RAFERMERL? (10%)
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